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Abstract

Multi-Input Correction Using Weighted Noise on Acoustic

Characteristics

Yuka Akiyama

To achieve a sound field reproduction system, it is important to design multi-
path inverse filters which cancel the effects of room transfer functions. Additionally,
there are two control points, which are left and right ear, from a loudspeaker. Ac-
cordingly, a loudspeaker has to deal with multi-path by one control system. Moreover,
acoustic characteristic of the human ear is used because system is assessed by human.
Consequently, in this paper, inverse filter, whose parameters is updated with weighted
sensitivity function, for multi-input system is designed. Furthermore, this sound field

reproduction system by this method is simulated by computer.

key words Adaptive Signal Processing, Correct Filter, Sound Field Reproduction,

Acoustic Characteristics
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